
P. 2

EVO2-SB001
H-K1 SIDE BATTERY CONVERSION SET

Special Features :	
1. New design air-wing type main chassis, which gives more roll in corner & 
    more stable on straight road.	
2. Front swing carbon upper deck, which is suitable to use with side battery & 
    waist twister system.(with lock & unlock function)	
3. 1300 MAH LiFe Side receiver battery is included in the set.	
4. All new parts are direct fit onto the current H-K1 kit.	
5. The side battery conversion set will make the car left & right completely balance 
    and give you amazing handling in corner & straight road !	

EASY TO SETUP FRONT SWING
FRONT SWING - ON
Remove Two Screw (BH M3x8)

FRONT SWING - OFF
Add Two Screw (BH M3x8)

FRONT SWING

SIDE BATTERY

P. 1



P. 3P. 2

EVO2-001         EVO2  3mm Hard Coated
                         7075-T6 Main Chassis 
      or
EVO2-0011       EVO2  3mm Hard Coated 
                         7075-T6 Main Chassis  
                         (Short Version)
EVO2-100         2mm Carbon Front Swing Upper          
                         Deck
     or
EVO2-1001       2mm Carbon Front Swing 
                         Upper Deck (Short Version)
EVO2-104         Battery Holder
EVO2-114         Carbon Belt Tension Stand
EVO2-450L       Alum. radio plate mount Left
EVO2-450R       Alum. radio plate mount Right

   x 1      
   
   
   x 1     
   
  
   x 1     
   

   x 1      
   
   x 1      
   x 1      
   x 1
   x 1       
       
 

WT009A        Screw Spacer A
HK495           Harden Steel Front Swing   
                     Bearing Mount
Bearing         Flanged Bearing 3x6x2.5  
HK3200         1300MAH LiFe Side Receiver
                     Battery
HK902           BH M3 X 6
HK903           BH M3 X 8

x  2
x  1

x  1 
x  1 

x  2
x  5

► Item No.    ► Description                           ► Quantity ► Item No.    ► Description                            ► Quantity

EVO2-100 or  EVO2-1001

EVO2-114

HK902

HK902

HK903

EVO2-450L

EVO2-450R

WT009A

HK3200

EVO2-104

EVO2-001 or  EVO2-0011

HK903

Flanged 
Bearing

HK495



P. 3

(FH3.0X6)

2

3

1

(FH2.5X6)

(FH3.0X8)

(FH3.0X8)
4

4

To Adjust Belt 
Bearing Housing!

1. Release the Screw.
2. Move Belt Bearing Housing as   
    needed.
3. Re-tighten the Screw.

Screw

(BH3.0X12)

 Belt Bearing 
Housing

(BH3.0X12)(FH3.0X12)

(BH3.0X8) (BH3.0X8)

(BH3.0X6)

(BH3.0X6)

(BH3.0X8)
(BH3.0X8)

Use tape to mount the
side receiver battery to
the battery holder

Not Included Not Included



P. 4

(FH2.5X6)

(BH3.0X8)

(BH3.0X8)

(BH3.0X8)
Not Included

Not Included


